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CH5/18.  Initial tableau (Note: Min objective converted to Max.) 
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  Iteration 1:  x1 enters, a3 leaves (Drop a3 column) 
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  Iteration 2:  x2 enters, s1 leaves 
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  Iteration 3:  x3 enters, x1 leaves 
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Iteration 4:  s3 enters, a2 leaves  (Drop a2 column) 
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  Optimal Solution:  x2  =  60, x3  =  60, s3  =  20   Value  =  2040 

 
CH7/11. a. 
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b. There are alternative optimal solutions. 

Solution #1  Solution # 2  
Denver to St. Paul: 10 Denver to St. Paul: 10 
Atlanta to Boston: 50 Atlanta to Boston: 50 
Atlanta to Dallas: 50 Atlanta to Los 

Angeles: 
50  

Chicago to Dallas: 20 Chicago to Dallas: 70 
Chicago to Los 
Angeles: 

60 Chicago to Los 
Angeles: 

10 

Chicago to St. Paul: 70  Chicago to St. Paul: 70 
 
  Total Profit: $4240 
 
  If solution #1 is used, Forbelt should produce 10 motors at Denver, 100 motors at 

Atlanta, and 150 motors at Chicago.  There will be idle capacity for 90 motors at 
Denver. 

 
  If solution #2 is used, Forbelt should adopt the same production schedule but a 

modified shipping schedule. 



 
CH7/27a. 
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 b. 

Min
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c. Optimal Solution 

    Variable  Value 
       x14  400 
       x15     0 
       x24  450 
       x25     0 
       x34     0 
       x35  350 
       x46     0 
       x47  500 
       x48  300 
       x49   50 
       x56  200 
       x57     0 
       x58     0 
       x59  150 

Value of optimal solution: 16150 


